Equations S4. Power-Law terms in Equations S3

L, =V, xL /X,

55 =Vo5 x L, /X, '

|;3 =V, % Lyy /Xy

55 =V, x (LU 5 +U, Ly, + L,Lyg )/(X, X 55)
L, =V,, xL, /X,

s =V, xL,/X,

|3, = Vg, x Ls/Xs

|37 = Vg7 xLs/Xs

I35 =Vag x Ly /Xs

I3l‘3,8 =Vyg % Lis /X5

|36 =Vag ><(|-3U15 +U L + L3L15)/(X3X15)
L2 =V, x L /X,

L7 = Ve x Lo /X,

lss = V56 % Ls/Xs

l&, = Vs, xLg/ Xy

|§,7 = Vg7 X Ly /Xy

15, = Vg7 % (LsU 5 + ULy + LgLyy )/(Xs X 55)
los = Vo5 < Lg/Xs

loa7 = Ve X Ls/X¢

s =Vys x Ly /X,

I3 =V, g x L, /X,

17 =V, g x Ly /X5

196 =V, g x(L;Uss +U;Lig + Ly Lig )/(X; Xo5)
7243 = V70a3 X Ly /X5

lgs =Vg5 % Lg/ X

lg7 = Vg7 x Lg/ X,

lg1s = Va1e X Lg /X

ls 20 = Vg0 X Lg /X

lg10 = Vg0 X Lo /X,

lg1s = Vo5 X Lo /X

o156 = Vioass % Lio/ X0

|11,9 =Vyp9 X L11/X11

|18,3 = Vg3 X L18/x18

I18,7 = Vg7 X L18/X18

a J—
|18,19 = Viga9 X L18/X18
b _
|18,19 =Viga9 X I-15/X15

|5 26 = Vig10 X (L18U15 +U gL + LigLis )/(X18X15)
lig 21 = Vig 1 % Lig /Xy

lig.s =Vigs % Lig/Xyg

lig.7 =Vig7 % Lig /Xy

lig.22 = Vig 2o X Lig / Xy

Lo =Vaos X Lao /X0

lo1as = Varzs X Loy /X5

|22,19 = V)19 X Lzz/xzz

a J—
|24,12 = V10 X L24/X24
b _
I24,12 = V10 X L25/X25

|204,12 = V24,12 X (L24U 25 +U 24 L25 + L24 L25 )/(X 24 X 25 )

L5520 = V524 X Los /X 5
l35.26 = Va5 26 X Lo/ X s
| 6,27 = Vg 27 X Lo/ X 26
57,28 = V7,28 X Ly /X5
L5620 = V.29 X Lo/ X o
6170 = Vag179 X L28/ X
55,30 = V9,30 X Log/ X2
la0.21 = Vg1 X Lso/x3o
l30,33 = Va0,33 X Lo / X0 !
|31,32 = V313 X L31/X31
|31,34 = V3134 X L31/X31 !
o35 = Vap 35 X Ly /X, !
lap.37 = Vo 37 X Lsy /X
32,30 = Vap 39 X L32/X32
20186 = Vg6 % Lsz/ X
l33.30 = Va3 30 X L33/X33

|34,31 = Vg3 X L34/X34



I11,14 =Vigq4 X L11/x11 I35,32 = V53 X L35/x35

lipy = Vip, X |—12/X12 l35.40 = Vas 40 X L35/X35
_ a _ A

I12,11 = Vg X le/x12 |36,37 = V337 X L36/X36
a _ b _ b

|12,23 = Vi 03 X L12/X12 |36,37 = V337 X Lse/xsﬁ
b _ c _\C

|12,23 = Vi 03 X (L24/X24) |36,37 = V337 X L36/X36
c _ _

I12,23 =Vip 03 X (L12U 20 tUp Ly + L, L, )/(Xlz X 24) |36,39 = V3539 X Lyg /Xae

|12,148 =Vip148 X L12/X12 |38,25 = Vg5 X L38/X38

I14,142 =Vig140 X I-14/)(14 I40,35 = V4,35 X I-40/)(40

I14,145 =Vig145 X L14/X14 I40,39 = V0,39 X I-40/X4o

|15,144 = Vi5 144 X LlS/ Xis |125,38 = Vig538 X I—125/ X125

™ The contribution of labeled palmitoyl-CoA (X1) was not included. See text for explanations.
&) A superscript indicates deviations from the total pool; the method automatically computes equations

for the labeled fractions.



